DAV PUBLIC SCHOOL CHANDRASEKHARPUR BHUBANESWAR 21
POST SUMMER VACATION TEST (2023-24)
SUB : POLITICAL  SCIENCE 
CLASS : XII
Time Allowed: 1hour 30mins                                                                                Max Marks: 40                          
General Instructions:
· Q Nos 1-20 carry 1 mark each.
· Q Nos 21-23carry 2 marks each.
· Q Nos 24-25 carry 4 marks each.
· Q Nos 26 carries 6 marks.

Q1. Which of the following developments did take place in the Soviet Era\regime?  
a. Formation of the CIS.                                                              b.Split in Yugoslavia
c. Establishment of the Socialist block or the Second World.    d.Boris Yeltsin became the president of Russia
Q2. The Maharaja of Manipur had signed the Instrument of Accession on the assurance that:
a.  Monarchy will be retained in the state.
b. The State’s internal autonomy will be maintained.
c. It will be protected from attack by the neighbouring country.
d. It will become a constitutional monarchy.
Q3. What was known as the British Paramountcy?
         a. End of the British control over the British Indian Provinces.      b.Autonomy of the Princely states.
         c. Princely states accepted the British supremacy.                   d.Rule of the Viceroy on the Indian provinces.
Q4.   The first state to be created on linguistic basis was-----and in the year--.
a. Manipur, 1948     b. Jammu and Kashmir, 1949    c. Andhra Pradesh, 1952    d.Maharashtra, 1960
Q5.  Which of the following pairs of the states was worst affected by partition?
         a. Bengal and Assam      b. Bengal and Punjab       c. J&K and Bengal     d. Punjab and J&K
Q6.   The idea of Planning was drawn from:
i. The Bombay Plan
ii. Experiences of the Soviet bloc countries
iii. Gandhian vision of the society
iv. Demand by Peasants’ organization
CODES:
a.  ii and iii only        b. iv and iii only   c.i and  ii only       d. All the above
Q7.  Which of the following ideas did not form part of the early phase of India’s development policy?
a. Planning                  b. Liberalisation   c. Cooperative farming        d. Self sufficiency
Q8.  What declaration was made at the Avadi session of the Congress? 
a. Establishment of a socialist pattern of society          b.Establishment of the Planning Commission
c.   Economic development to be led by Public sector   d.Inclusion of a mixed economy pattern
Q9.   The recommendation of the states Reorganisation commission [SRC] led to the creation of _________ states and _____________Union Territories.
a. [bookmark: _GoBack]14 & 7		 	 b. 17 & 6   		c. 14 & 6   		d. 17 & 7

Q10. Match the List I with the List II.
	LIST I
	LIST II

	A. K.N.Raj
	i. Greater emphasis on rural industrialisation

	B. J.C.Kumarappa
	ii. Stress on heavy industries.

	C. P.C.Mahalonobis
	iii. Advocated slow process of development

	D. Ch. Charan Singh
	iv. Demanded to keep agriculture at the centre of planning.


 Codes: 
 a. A-(iii), B- (i), C-(ii), D-(iv)                                b. A-(iv), B- (i), C-(ii), D-(iii) 
c. A-(i), B- (iv), C-(ii), D-(iii)                                d. A-(iv), B- (ii), C-(iii), D-(i) 


Q11. In the following question, a statement of Assertion (A) is followed by a statement of Reason (R). Choose the appropriate option: 
Assertion (A): The middle peasants section emerged as politically influential.
Reason (R): The Green Revolution benefitted peasants with medium size land holdings.
a. Both the Assertion and the Reason are correct, and the Reason is the correct explanation of the Assertion.
 b. Both the Assertion and the Reason are correct, but the Reason is not the correct explanation of the Assertion. 
c. The Assertion is incorrect, but the Reason is correct. 
d. The Assertion is correct, but the Reason is incorrect.
Q12. In the following question, a statement of Assertion (A) is followed by a statement of Reason (R). Choose the appropriate option: 
Assertion (A): Many proposals for land reforms were either not translated into laws and remained only on paper.
Reason (R): The most successful of the land reform programmes was the abolition of the Zamindari system.
a. Both the Assertion and the Reason are correct, and the Reason is the correct explanation of the Assertion.
 b. Both the Assertion and the Reason are correct, but the Reason is not the correct explanation of the Assertion. 
c. The Assertion is incorrect, but the Reason is correct. 
d. The Assertion is correct, but the Reason is incorrect.
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Study the image given below and the question nos 13-14:
Q13. The circle of gold stars stands for solidarity and harmony
a. Among the members of the Euro Zone.    b. With the new members of the European Union.
c.   Between the peoples of Europe.                d. With the world community
Q14. The EU flag has 12 stars as the number 12 is traditionally the symbol of perfection, ------------ and-----------.
a. Opportunity and unity    b.Completeness and unity.    c.Progress and strength.    d.Strength and unity.
Q15. The Zoning policy of the government aggravated food crisis in the state of…………….
       a. Punjab                               b. Haryana                  c. UP                      d. Bihar 
Q16. During the British rule, there were 26 small princely states within today’s -----------------.
a. Punjab      b. Maharashtra       c. Odisha      d. Andhra Pradesh
Q17. In 1978, the then Chinese premier Deng Xiaoping announced the Open Door policy and economic reforms in China. The objective was to generate higher productivity by:                                                                               
a. Investing capital and technology from abroad.      b.Exporting Industrial products.
c.   Importing Consumer products only.                    d.Establishing economic and diplomatic ties with the USA.
Q18. Which of the following is not the outcome of the disintegration of the Soviet Union?
a. End of the ideological war between the USA and the USSR.    b.Birth of the CIS.
c.   Change in the balance of power in the world order.                   d.Russian Revolution.
Q19. The President of which Central Asian country appointed himself to power, first for ten years and extended it for another ten years?
      a. Turkmenistan        b. Ukraine       c. Azerbaijan        d. Kyrgyzstan
Q20.   In 1991, at the time of the Soviet disintegration, a coup was organized by ------------------.
a. Supporters of capitalism    b.Boris Yelstin   c.Gorbachev    d. Communist party hard liners                           
Q21. Draw any two arguments of critics against the role of the state during the period of planned economic development.     
Q22. “Operation Flood was not just a dairy programme, rather it saw dairying as a path to development.” Explain.                                                                                        
Q23. How did Gorbachev’s economic reforms divide public opinion and he lost support on all sides in this tug of war?                                                      
Q24. How did the shock therapy involve a drastic change in the external orientation of the communist economies? Give any 4 points.                         
                                                                 OR                                                       
Economic transition in the post-Soviet republics required them to make a total shift to a capitalist economy. What did it mean? Explain in 4 points.  
Q25. “The process of partition of India might appear simple, but it presented all kinds of problems.” Explain any four such problems.             
Q26. Explain the factors that make European Union a highly influential regional organisation. [2+2+2]
                                                   OR                                                                     
What is meant by ‘ASEAN Way’? Name the pillars and objectives of ASEAN community. 
What are the components of the ASEAN Vision 2020? [2+2+2]
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